Rivet 3.1.10, = 2.2M events

13000 GeV pp Z+Jet
.‘l.r\ [] : | : | : | : | : | : | : | : | | : ]
I - L .. _ _
o +

ol o6 Dijet P, balance (CMS Z+jets) 7

S F = cwms -

—lo | —&— Pythia 8.308 default ]

0.5 — ---¥-- Pythia 8.308 tune-AU2 —

-~ -- Pythia 8.308 tune-AUZ2lox B

-8~ Pythia 8.308 tune-AU2loxx _

— —— Pythia 8.308 tune-AU2m .

0.4 — —]

0.3 — ]

0.2 — —]

0.1— —]

AL ]

- 2

2 & =

%) B Bl

= - _

@) N |
O

fe) 1 .

T u _
14

0.5 — _|

l l

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


